xg(x,Q%)

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

1074 103 1072 107" < 1

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

107 1073 1072 107" .

x=(x,Q%)

0.3

0.2

0.1

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

1074

1073 1072

107" 1
X

1.8
1.6

1.4
1.2
1
0.8
0.6
04

0.2

0

Q%=1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

1074

1073 1072

10" 1
X



XU(x,Q?)

xs(x,Q?)

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

o
A

1

103 1072

107"

1
X

0.6

0.5

0.4

0.3

0.2

0.1

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

o
A

1

1073 1072

107"

1
X

xd(x,Q?)

X5(x,Q?)

o
N

o
o

0.4

0.3

0.2

0.1

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

o
A

1

1073 1072 10" 1
X

0.6

0.5

0.4

0.3

0.2

0.1

o

Q%=1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

Y
o
A

1073 1072 10 1
X



x(s+8)/(T+d)(x,Q?)

xc(x,Q?)

[ @%=1.9 GeV?
1.4- ./rsFixed/output
| — ./rsFree/output
1.2~
1
0.8F
0.6
0.4
0.2}
0: 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 11 11111
107 107° 1072 107 .
1-  @Q%*=1.9 GeV?
| — ./rsFixed/output
| — ./rsFree/output
0.8
0.6
0.4+
0.2
0_ IIIII IIII IIIII L1l
107 10°° 1072 107 .

9 F  @?°=1.9GeV?
o 1.8 — /rsFixed/output
™ | of. — -/rsFree/output
1.4
1.2F
i
0.8
0.6
0.4
0.2
0-_r 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 11111
107 107 1072 107" 1
X
T - Q’=1.9GeV?
% [ — .rsFixed/output
o | — ./rsFree/output
0.8
0.6
0.4
0.2
0_ IIIII IIII IIIII L1l
107 107 1072 107 1




oo @ =19GeV? 9 o5l @*=1.9GeV?
"'t — ./rsFixed/output 3-‘; - — ./rsFixed/output
: - — ./rsFree/output % [ — ./rsFree/output
© -
0: x 04_—
0.01
- 0.3
-0.02F -
-0.03F 0.2
~0.04F 0.1~
-0.05F [
C 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 11 11111 0 1 IIIIIII| 1 1 IIIIII| 1 IIIIIII| 1 11 11111
107 10° 107 10™ . 107 10° 1072 10™ .
G [ @*=19GeV? 9 12 Q*=1.9GeV?
% | — ./rsFixed/output =1 - — ./rsFixed/output
X 0.8 — ./rsFree/output x L — ./rsFree/output

0.8

0.6

0.4

0.2

0

107 1073 1072 107" . 107 1073 1072 107" .




G 070 @2-1.9GeV?
b’i - — ./rsFixed/output
X 0.6 — ./rsFree/output
0.5
0.4
0.3
0.2
0.1
0:_ 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 11111
107 1073 1072 107" .
x10°
T 120 q2-1.9GeV?
Z L — .rsFixed/output
> 100__ — ./rsFree/output
80|
60
a0~
20 J
0 1 IIIIIIII 1 IIIIIIII 1 IIIIIII| 1 L1 11111
10 1073 1072 10”"

1
X

xD(x,Q?)

xd/u(x,Q?)

1.2

0.8

0.6

04

0.2

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

o
A

1

1073

1072

107"

1
X

1.2

0.8

0.6

0.4

I L | L | T 1 1 | T 1 1

0.2

Q%=1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

1074

1073

1072

107"

1
X



NO.\ 1_2__ Q2=1.9 GeV2
L:-« - — ./rsFixed/output
3 | — ./rsFree/output
1
0.8F
0.6F
0.4F
0.2
0__ 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 11111
107 107° 1072 107 .
G [ Q?2=1.9GeV?
?000__ — ./rsFixed/output
> - — ./rsFree/output
40000
30000(
20000
10000
0 1 IIIIIIII 1 IIIIIIII 1 IIIIIII| 1 L1 11111
107 10°° 1072 107

1
X

xd,/u,(x,Q%)
o

0.8

0.6

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

0-2 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 1111l
107 1073 1072 10 < 1
G 1 Q2=1.9GeV?
£ [ — .rsFixed/output
> | — ./rsFree/output
0.8
0.6
0.4
0.2
0_ IIIII IIII IIIII 1 1 111111l
107 1073 1072 10" .



x%/g(x,Q?)

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

|

Y

o
I|III|III|III|III|III|III|III III|III|III|II

103 1072

107"

1
X

0.6

0.4

0.2

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

1074

1073 1072

107"

1
X

xy/g(x,Q%)

xu,+d, +25(x,Q?)

1= Q@%=1.9GeV?
| — ./rsFixed/output
| — ./rsFree/output
0.8
0.6
0.4
0.2
0_ 1 IIIIIIII 1 IIIIIIII 1 IIIIIIII 1 11 1 111l
107 1073 1072 107 .
35 Q%*=1.9 GeV?
- — ./rsFixed/output
g — ./rsFree/output
2.5
2
1.5
1
0.5
0__ 1 IIIIIIII 1 IIIIIIII 1 IIIIIII| 1 L1 11111
107 1073 1072

10" 1
X



Q% =1.9 GeV? [

— ./rsFixed/output
— ./rsFree/output

103 1072 107"

1
X

N_

51.04F

G [

J
L

%1.02-

G [

X |
>

2 1
0.98
0.96
1074
2

&

e}

x

§’1.4—

e

X

(o))

x
1.2
1
1074

1073 1072 107"

1
X

cg“ 1.1- Q?=1.9 GeV?
) I — ./rsFixed/output
= — ./rsFree/output
'c -
X L
C 1
X -
>
ko] L
x -
0.9
0.8~
IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 1111l
107 1073 1072 10 .
T B 0 0 [
G C Q%=1.9 GeV
) - — ./rsFixed/output
] 1.1~ — /rsFree/output
G
»
w7 109~
b3
0.95
0.9F
C 1 IIIIIIII 1 IIIIIIII 1 IIIIIIII L1l
107 1073 1072 10" 1



#1.05F 2
< I Q%*=1.9 GeV
) | — ./rsFixed/output
(=1 . — ./rsFree/output
X1
[ B
X
E -
x -
0.95
0.9
0.85—
L 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 11 11111
107 107° 1072 107 .
G [ Q@’=19GeV’
) - — ./rsFixed/output
@ gt — .rsFree/output
L]
X
171
x
1.5
1
I 1 IIIIIII| 1 IIIIIII| 1 IIIIIIII 1 IIL
107 107 1072

10" 1
X

xd(x,Q%)/xd(x,Q?)

X5(x,Q°)/XS(x,Q%)

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

107 107 1072 107 .
- Q?=1.9 GeV?
- — ./rsFixed/output

ol — ./rsFree/output

s
[3)]

1074

1073 1072 10 1
X



N
[3)]
T T T T

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

gy
[3)]

X(s+5)/(T+d)(x,Q°)/x(s+3)/(T+A)(x,Q°) _,
N

1
: 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 11
107 103 1072 10 1
5 2
o - Q%= 1.9 GeV?
) i — ./rsFixed/output
g | — ./rsFree/output
ch 1.5_—
>
T; L
X |
1
0.5
0_ 1 IIIIIIII 1 IIIIIIII 1 IIIIIII| 1 L1 1111l
107 1073 1072 10"

1
X

5 2
S I Q%= 1.9 GeV?
o i — ./rsFixed/output
in i — ./rsFree/output
> _
X 1.5+
Nq N
N, _
o
(] L
x
1
0.5
0_ 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 1111l
107 107 107 107 .
5 2
S [ Q? = 1.9 GeV?
o i — ./rsFixed/output
§ I — ./rsFree/output
NO_ 1.5_—
a3
3 _
x -
1
0.5—
0_ 1 IIIIIIII 1 IIIIIIII 1 IIIIIII| 1 L1 1111l
107 107 1072 107 .



- Q%= 1.9 GeV?
B — ./rsFixed/output
" — ./rsFree/output

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

xd-T(x,Q%)/xd-T(x,Q°%)

1 L
0'_— 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 11 11111 C 1 IIIIIII| 1 1 IIIIII| 1 IIIIIII| 111
107 107° 1072 107 . 107 107° 1072 10 .
08"1 .05_— Q2=1.9 GeV? cgh : Q?=1.9 GeV?
N - — ./rsFixed/output ) i — ./rsFixed/output
S B — ./rsFree/output (=} — ./rsFree/output
X I X 1.2
& T G
2 - ot
=] - a
x | b
0.95—
i 1.1
0.9
I 1
0.85 L
1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 1 111] 1 IIIIIII| 1 1 IIIIII| 1 IIIIIII| 1 L1 1 111]

107 1073 1072 107" . 107 1073 1072 107" .



el
(=)
o

0.95

0.85

xg/Z(x,Qz)/xg/Z(x,Clz)ref

x0(x,Q%)/x0(x,Q?),

0.9

Q% =1.9 GeV?

— ./rsFixed/output
— ./rsFree/output

—

1074

103

1072 10~

1
X

—h
5
I

Y
N
[

Q%=1.9 GeV?
./rsFixed/output
./rsFree/output

N/

1074

1073

1072 10"

1
X

N’c;" 1.3 Q%= 1.9 GeV?
o i — ./rsFixed/output
(= S — ./rsFree/output
> L
b, 1.2_—
ko)
8 i
=~ i
1.1_—
it
0.9
0_8_ Lol Lol Lol
107 107 1072 10 1
cg“ i Q%= 1.9 GeV?
) L — ./rsFixed/output
=1 - — ./rsFree/output
T 1
x
kel
X
=
To0.95
0.9
0.85 | | | T
107 1073 1072 10" .



ref

xd/t(x,Q%)/xd/t(x,Q?)

xrs(x,Qz)/xrs(x,Qz)ref

-
N

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

—

et
©
[

0.6~

103

1072

107"

1
X

— ./rsFixed/output
— ./rsFree/output

Q%= 1.9 GeV?

1074

1073

1072

107"

1
X

xd,/u,(x,Q%)/xd, /u,(x,Q%)

Xy(6,Q%)/xy(x,Q%)

I Q? = 1.9 GeV?
— ./rsFixed/output
i — ./rsFree/output
1
0.9
0.8
1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 11 11111
107 107 1072 107 .
2
- Q?=1.9 GeV?
i — ./rsFixed/output
i — ./rsFree/output
1.5
1
0.5
0_ 1 IIIIIII| 1 IIIIIII| 1 IIIIIII| 1 L1 11111
107 107 1072 107

1
X



re

1.1

Q% =1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

/N

x2/g(x,Q%)/xz/g(x,Q%)

0.9

0.8
0.7__ 1 L1 11 I| 1 IIIIIII| 1 IIIIIII| 1 L1 117111
107 103 1072 10 < 1
«g“l .05~ Q?=1.9 GeV?
) i — ./rsFixed/output
;S i — ./rsFree/output
+> B
: -
>
= 1
g |
x N
>
o L
+
>
E -
0.95|-
0.9
I IIIIIIII 1 IIIIIIII 1 IIIIIII| 1 L1 1111l
107* 1073 1072 10"

1
X

2
Q )ref

xu,+d,+2%(x,Q%)/xu_+d,+2%(x

xy/g(x,Q%)/xy/g(x,Q%)

N

e
[3)]
I

Q%= 1.9 GeV?
— ./rsFixed/output
— ./rsFree/output

—

0.5

1073 1072

107" 1
X

-
[=]
2]

Q% =1.9 GeV? f

— ./rsFixed/output
— ./rsFree/output

—h

0.98

N/

1074

1073 1072 107"

1
X



O-red

Theory/Data

0-red

Theory/Data

-t

o
©

—h

1.4

1.3

1.2

1.1

o
©

'o_L
Ol a O1

1.5

1.4

1.3

1.2

1.1

e'p - e*X (NC), Ep =820 GeV

——

—e— HERA1+2 Data Q> = 10
¢ Juncorrelated

o total — ./rsFixed/output

- == Theory + shifts — ./rsFree/output
0.0002
X
—e’p - "X (NC), Ep =820 GeV
- —— HERA14+2 Data G2 = 15
C ¢ duncorrelated
N 0 total — ./rsFixed/output
[ === Theory + shifts — ./rsFree/output
0.0002 0.0003

Theory/Data

o-red

Theory/Data

14
1.35
1.3
1.25
1.2
1.15

1.45
1.4
1.35
1.3
1.25
1.2
1.15

1.1
1.05

0.95

e'p - e"X (NC), Ep =820 GeV

-
=
=
—

—e— HERA1+2 Data @ = 12

¢ Jduncorrelated
0 total

= == Theory + shifts

— ./rsFixed/output
— ./rsFree/output

e'p - e" X (NC), Ep =820 GeV

—e— HERA1+2 Data Q* = 18

¢ Jduncorrelated
o total

= = = Theory + shifts

— ./rsFixed/output
— ./rsFree/output

0.0003 0.0004 0.0005

X



O-red

Theory/Data

0-red

Theory/Data

1.4
1.35
1.3
1.25

1.2
1.04
1.02

0.98
0.96

1.65
1.6
1.55
1.5
1.45
1.4
1.35
1.3
1.25
1.2

0.95

e'p - e*X (NC), Ep =820 GeV

—e— HERA1+2 Data Q? = 22

= = = Theory + shifts m]

¢ Suncorrelated
o total o ./rsFixed/output
./rsFree/output

0.0005
X

Ee'p — eX (NC), E, = 820 GeV
=TT -
- —— HERA1+2 Data G = 35
% ¢ S uncorrelated
2 6 total — ./rsFixed/output
E = ==-Theory + shifts — ./rsFree/output
F ]
S O —

0.0006 0.0007 0.0008

X

O-red

Theory/Data

0-red

Theory/Data

1.6

1.5

14

1.3

1.2

1.1

1.05

0.95

1.6

1.5

1.4

1.3

e'p - e"X (NC), Ep =820 GeV

—e— HERA1+2 Data Q? = 27
¢ Jduncorrelated
0 total
= == Theory + shifts

— ./rsFixed/output
— ./rsFree/output

0.0004 0.0005

e'p - e" X (NC), Ep =820 GeV

—e— HERA1+2 Data Q? = 45

¢ Jduncorrelated
o total

= = = Theory + shifts

— ./rsFixed/output

— ./rsFree/output
1

—i

0.0008 0.0009 0.001



O-red

Theory/Data

0-red

Theory/Data

1.46

1.44
1.42

1.4
1.38
1.36
1.34
1.32

1.02

0.98(

1.35

1.3

1.25

1.2

1.15

1.05

+

©

- &'X (NC), E, =820 GeV

—e— HERA1+2 Data Q? = 60

¢ Juncorrelated
0 total o ./rsFixed/output
- == Theory + shifts o ./rsFree/output
e O s I. SR~

e'p - e*X (NC), Ep =820 GeV

........... o -

—e— HERA1+2 Data Q% = 90
¢ duncorrelated

0 total o ./rsFixed/output
= = = Theory + shifts o ./rsFree/output

-----------o----------E----------n

l

[

0.002

red

Theory/Data

o-red

Theory/Data

1.6

1.5

1.4

1.3

1.2

1.1

1.4

1.3

1.2

1.1

1.02

0.98

Fe"p - e*X (NC), E, = 820 GeV

—e— HERA1+2 Data Q? = 70

¢ Jduncorrelated
0 total

= == Theory + shifts

— ./rsFixed/output
— ./rsFree/output

e'p - e" X (NC), Ep =820 GeV

—e— HERA1+2 Data Q* = 120

¢ Jduncorrelated
o total

= = = Theory + shifts

— ./rsFixed/output
— ./rsFree/output

0.003



Theory/Data

0-red

Theory/Data

1.26
1.24
1.22

1.2
1.18
1.16
1.14
1.12
1.02

0.98

1.18
1.16
1.14
1.12

1.1
1.08
1.06
1.04
1.02

0.98
0.96

1.05-

- e'p ~ 6'X (NC), E_ =820 GeV

—e— HERA1+2 Data Q%> = 150
¢ Juncorrelated

0 total o ./rsFixed/output
- == Theory + shifts o ./rsFree/output

- e'p - X (NC), Ep =820 GeV
= o
zzzzzzzzzzzzzzzzzzzzsBzzzzozzoos
- —e— HERA1+2 Data Q? = 250
i ¢ Jduncorrelated
= 5 total o ./rsFixed/output
E == - Theory + shifts o ./rsFree/output

o
:::::::::::::::::f::::-n:::::::::::

L L]
—d

O-red

Theory/Data

o-red

Theory/Data

1.3

1.2

1.1

o —
© =)
Ol a O

1.3

1.2

1.1

e'p - e"X (NC), Ep =820 GeV

—e— HERA1+2 Data Q% = 200
¢ Jduncorrelated
o total

— ./rsFixed/output
= == Theory + shifts — ./rsFree/output

—i

= = = Theory + shifts

J/rsFree/output

0.004 0.005
X
:_e+p - e*X (NC), Ep =820 GeV
_ —e— HERA1+2 Data Q” = 300
E ¢ Juncorrelated
- 6 total — ./rsFixed/output

0.005 0.006 0.007

0.008
X




o
o

o

Theory/Data

0-red

Theory/Data

1156 ~ e'X (NC), E, = 820 GeV
1.05
1

0.95 {
0.9
0.85

0.8F —e— HERA1+2 Data Q? = 400

0.75E ¢ duncorrelated
0.7 6 total — ./rsFixed/output
""E === Theory + shifts — ./rsFree/output
N RR = L ]
1.05
1; I - ::?'Tﬁ
0.008 0.009 0.01
X
4 4£.6'P ~ &'X (NC), E, = 820 GeV
0.9
0.8F
0.7
0.6 —— HERA1+2 Data G? = 650
= ¢ duncorrelated
0.5 3 total .
C — ./rsFixed/output
0.4F - - - Theory + shifts — ./rsFree/output
= L 1
1.05F
1
0.95F |
0.008 0.01 0.02

O-red

Theory/Data

o-red

Theory/Data

1.2

1.1

0.9

0.8

0.7

1.05

0.95

0.9

0.8

0.7

0.6

0.5
1.05

0.95

:_e+p -~ e*X (NC), Ep =820 GeV
- —e— HERA1+2 Data Q? = 500
o ¢ duncorrelated
F o total — ./rsFixed/output
- === Theory + shifts — ./rsFree/output
L , ]
0.008 0.009 0.01
X
- e'p - e*X (NC), Ep =820 GeV
- —e— HERA1+2 Data Q2 = 800
¢ duncorrelated
8 3 total — ./rsFixed/output
[ ===-Theory + shifts — ./rsFree/output
0.02
X



O-red

Theory/Data

0-red

Theory/Data

1.4

1.2

o
=)

o
=)

e'p - e*X (NC), Ep =460 GeV

—e— HERA1+2 Data Q> = 8.5
¢ Juncorrelated
o total
= = = Theory + shifts

— ./rsFixed/output
— ./rsFree/output

%4 —
1.05
1
0.95
0.9 .
0.0003 0.001 0.002
X
L e'p - e X (NC), Ep =460 GeV
1.4_—
1.2 ;
1
0.8 o« HERA1+2Data@?=15
¢ duncorrelated
0.6 3 total — ./rsFixed/output
- === Theory + shifts — ./rsFree/output
1.2:—' ————= ' '
1.1E
1
0.9E .
0.0004 0.001 0.002 0.003

X

O-red

Theory/Data

o-red

Theory/Data

1.6

T e'p - e’ X (NC), Ep =460 GeV

1.4
1.2}
1
0.8 \
- —o— HERA1+2 Data Q°“ =12
0.6: ¢ Jduncorrelated
B 6 total — ./rsFixed/output
0_4: = = = Theory + shifts — ./rsFree/output
- L L L M| L
1.05F
1
0.95F
0.9 ' .
0.0003 0.001 0.002 0.003
X
1.6
C e'p - e X (NC), Ep =460 GeV
1.4
1.2 s
1=
0.8 )
 —»— HERA1+2 Data Q" = 20
0.6: ¢ Jduncorrelated
B 6 total — ./rsFixed/output
- === Theory + shifts — ./rsFree/output
0-4_ X X X | X X
1.05F
1F
0.951 .
0.0006 0.001 0.002 0.003



O-red

Theory/Data

0-red

Theory/Data

1.8 F e'p ~ X (NC), E| = 460 GeV
1.6
1.4 { 3
1.2
1
0.8
- —— HERA1+2 Data Q* = 25
0-6; ¢ Jduncorrelated
0.4  Ototal — ./rsFixed/output
- === Theory + shifts — ./rsFree/output
n 9-_=|= ] L L L L
1.05F
I
0.95;—
0.9t !
0.0007 0.001 0.002 0.003
X
1.6-e*p - e*X (NC), E_ =460 GeV
1.4
1 .2 :_ i
1
0.8
0.65 —— HERA1+2 Data O? = 45
E ¢ Jduncorrelated
0.4r 0 total — ./rsFixed/output
L === Theory + shifts — ./rsFree/output
0.2 . . . .
1.05F
1: e §
E Y *
E | ]
0.95F
0.002 0.003 0.01

Theory/Data

o-red

Theory/Data

1.6
1.4

1.2

0.8
0.6
0.4

1.05

0.95

—e*p - e*X (NC), E, =460 GeV

—e— HERA1+2 Data @?> = 35
¢ Jduncorrelated

d total — ./rsFixed/output

= == Theory + shifts — ./rsFree/output
| L L L L L

0.0009 0.002 0.003

1.6
1.4
1.2

0.8
0.6
0.4
0.2

1.1
1.05

0.95

e'p - e" X (NC), Ep =460 GeV

—e— HERA1+2 Data G? = 60
¢ Jduncorrelated

6 total — ./rsFixed/output
= = = Theory + shifts — ./rsFree/output
L L L L L L P |

0.002 0.003 0.01



O-red

Theory/Data

0-red

Theory/Data

1.5

-
.
—

o
©

e'p - "X (NC), Ep =460 GeV

—e— HERA1+2 Data Q° = 90
¢ Jduncorrelated
o total
= = = Theory + shifts

— ./rsFixed/output

— ./rsFree/output
M|

0.003 0.01

0.02

e'p - e*X (NC), Ep =460 GeV

—e— HERA1+2 Data Q%> = 150
¢ duncorrelated
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Dataset rsFixed rsFree
output output
SAVE SAVE
HERA1+2 NCep 820 61/61 54 /61
HERA1+2 NCep 460 195 /177 195 /177
HERA1+2 CCep 45/ 39 45/ 39
ATLAS high mass CF Z rapidity 2011 4.4/6 41/6
ATLAS high mass CC Z rapidity 2011 9.7/6 71/6
ATLAS W+ lepton rapidity 2011 13 /11 12 /11
HERA1+2 NCem 230/ 159 222 /159
HERA1+2 CCem 56 / 42 61 /42
HERA1+2 NCep 575 186 /221 187 /221
ATLAS W- lepton rapidity 2011 19/11 8.9/11
HERA1+2 NCep 920 368 / 317 353 /317
ATLAS peak CF Z rapidity 2011 99/9 7.3/9
ATLAS peak CC Z rapidity 2011 50/12 15/12
Correlated x? 152 73
Log penalty x? -2.55 -14.43
Total x? / dof 1397 /1057 1230/ 1056
x* p-value 0.00 0.00




Parameter . rsFixed output . rsFree output
SAVE SAVE

"Adbar’ 0.1561 + 0.0090 0.1483 + 0.0090

"Adv’ 1.0000 1.0000

‘Ag’ 1.0000 1.0000

"Agp’ 0.489 + 0.055 0.373 + 0.055

"Auv’ 1.0000 1.0000

"Bdbar’ —0.1379 + 0.0095 —0.1231 + 0.0095

"‘Bdv’ 0.841 + 0.045 0.891 + 0.045

‘Bg’ —0.502 + 0.081 —0.492 + 0.081

"Bgp’ —0.555 + 0.054 —0.571 £ 0.054

"‘Buv’ 0.771 £ 0.014 0.786 + 0.014

‘Cdbar’ 6.9+1.6 11.7+ 1.6

'Cdv’ 426 +0.26 425 +0.26

'Cg’ 3.63 + 0.60 3.31 +0.60

'Cgp’ 25.00 25.00

"Cstr’ 6.18 + 0.82 7.31 £ 0.82

‘Cubar’ 5.68 + 0.47 5.44 + 0.47

"Cuv’ 4.889 + 0.074 4.804 + 0.074

"Euv’ 11.79 +£ 0.84 9.83 + 0.84

‘rs’ 0.5000 1.10 £ 0.15

Fit status not-a-fit not-a-fit

Uncertainties not-a-fit not-a-fit




